AP Calculus BC

Chapter 5 Review

Name

d xr
1. Find — / (403 + Te+2)de =
diU 1

a) 4o’ + Tz +2 b) 4c? + Tc +2

c) 4a’ +Tc+2 d) 8z +7
e) 8¢+ 7
d 3
%/ (3t2 — 11t)dt =
xT
a) 6t —11 b) 322 — 11z ¢) 1lz — 322
d) -7 e) 32— 11t
i/f‘ dt
de Js t—T7
1 322 322
2) x—17 b) x—17 ) 237
32 z3
d
) e ) x3 =7
d COS T
— 2 —t3)dt =
i J, ( )

a) —(2—2cosz)sinz  b) —(2—1t?)sinx

2

c) (2—cos’z) d) —(2 —cos?z)sinz

e) (2 —cos®z)sinz

543
If F(z) = f(t)dt and f(13) = 4, then
Fe=
a) 65 b)) 20 ¢) 13 d) —13 ) —65

If F'(z) = f(x) for all z, and if f is a continuous
7

function, then/ f(3z)dx =
2

a) 5(F(7) - F(2)) b) 5(F(21) - F(6))
c) F(21) - F(6) d) 3(F(7) = F(2))
e) 3(F(21) — F(6))

If y = e 3% then y =

a) (2z— 3)em2’3m b) el

c) 2z —3
e) (2z —3)e>3

10.

11.

12.

13.

14.

Date
If y = e}/*, then v/ =
1/z
a) - 5 b) el/® ¢) In <—
T x
61/35
d 1/z
) — e) ze
If y = e“®%, then @ =
dx

a) —eOST gin b) eCos T sinz

cosT

c) e d) esinz

e) e"coswsinz

: d
A curve is defined by y = ¢5"2?. Find d_y
T

a) eM2% cos 2 b) 2527 cos 2z

¢) sin 2z cos2x d) sin2zecos?”

e) 4sindx

d Inbz _

da© N

a) 57 b) 5%(In5) c) e*(Inb)
d) 5*(In5+¢€) e) 5

Given f(z) = @43 find f'(x).

e
2 b) 2 —
2) 2 ) 9 5
e 3
d
) er+3 2 ze? +3
dy
If y = In(22 — z), then 2L =
y = In(z* — z), then I
20 — 1 2 2
a) — b) —— ) =
z(z—1) z(z—1) x
1 -
Q) ) z(z—1)
z(z—1) 2z — 1
If y = In(e*” — 5), then B _
dx
1 1 3z —5
a) e —5 b) €3 <) e —5
3e37 3
d) - e) e —5




15.

16.

17.

18.

19.

dy
Find o given y = In(5 — )%,

1 6
a) (5 — )8 b) z—5

1
) 55—z

c) —6(5—zx)°

Find the derivative of f(z) = In(z?® + 3z)3.

9(z? +1) 3(z2 +1)
) S@+3) Y
322 +1) 9(z? +1)
°) z(z3 + 3z) ) z(23 + 3x)
1
®) S (e + 30
Find % for y = Inva? + 4.

T b 2z T
Ve M vEna 9 7
d) i e) e’ 6z2+4
If f(x) = In(sin(3xz — 8)), then f'(z) =
a) % b) cos(In(3z — 8))

c) 3cos(3z — 8)
e) 3cot(3z — 8)

d) 3In(cos(3z — 8))

Find the derivative of f(z) =1In z

22 +2 222 322
+ +
x 2 +2  2(x3-7)
+ 2z 322
z x2+2 2(z3-7)
2 +2 n 222 322
x x2+2 2(x3-7)
2z n 322
z2+2  2(z3-7)
2z n 322
z2+2  2(z3-7)

+

1
T
1
T

20.

21.

22.

23.

24.

25.

Find the derivative of f(z) =

z 1 1222
2) 22+1 x 223 -1
b) T l 622
22+1 z 223-1
1
c) T
(22 +1)2 (422)(223 — 1)
Q) 4 1 122
224+1 = 223 -1
2 1 622
B i S

Find @ for y = 5*.
dx

a) zlnb
d) 5°In5

b) 5z1n5

e) 5%lnx

Given y = 577, then @ =
dx

a) 52 In5 b) 572%2In5
d) 57%zInb5 e) —(57%)Inb

Ify= 32”52 , then @ =
dx

(32z2—5m)

2_x

a) 4z —

b) (222 — 5x)(3% 52 1)

c) 4z (3%5)In3

d) (4z — 5)e3(322°~57)
(

e) (4z —5)(32°~57)In3

d
Find 2¥ given y = 3%z3,
dx

a) 3%2%[3 + (In3)z]
c) 3% 1229 4 27
e) 3z%[3 —zln3]

Find ¢ given ze¥ + 1 = zy.

— oY
a) 0 p) L

zey —x

e) Inz
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x2 41

In ——.
. x(223 — 1)2

c) 5lnx

¢) 57%2Inb

b) 2z23°~1
d) 922

eY —x
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26. Given f(x) = 3%, find f'(0) 33. The functions f and g are differentiable and have
the values shown in the table.
a) In3 b) In9 ¢) 3ln3
d) 6ln3 e) In6 If A= " then A'(4) =
- Ner / a) -z b) 12 s | f 1 9|9
27. Given f(z)=ev*", find f'(2). 4
1 2 4 3|8
2 1 2 c) 3 d) —
a) ¢ b) 2 C)eZ d) - e)% ) ) 12 410 |12 6
c o) 1 6|16 |26 |4 |18
28. Find an equation of the tangent line to the 3 8 30 |40 |2 | 24
curve y = In (z — 3) at the point where the curve
intersects the z-axis.
34. tan 3z dx =
a) y=x+4 b) y=2—4 c) y=z—3
d) y=z+3 e) y=3z a) —3lnfcos3z|+C b) %1In|cos3z|+C
c) 3sec?3x d) In|cos3z|+ C
29. Suppose f(z) =z and let h(x) be the inverse
of f. Find A'(128). ¢) 3ln|cos3z|+C
a) 715 b) —1 c) 448 35. /sec 2zdr =
d) 5 €) —3i
a) 3In|sec2z + tan2z|+ C
d
30. Given y = arccos(5z), then d_z = b) %SQCQ 2+ C
5 1 c) 2csc2z+C
a) ————— b) -
) o ) o d) jesc2z+C
) —5 d) 9 e) 3ln|tan2z|+C
V1 — 2522 V1 — 5x2
e) __ 5 36. /81n3(3m)cos(3m) dz =
1 — cos(5x)
d a) +sin’(3z)cos’(3z) + C
31. Given y = arcsin(5z), then - 1 .4
dz b) ;sin*(3z) +C
2) 5 b) 5 c) 3sin?(3z) (3 cos?(3z) — sin?(3z)) + C
V1 — 522 V1 — 252 d) % Sin4(3m) +C
5 -5
c) m d) N e) % sin®(3z) cos?(3z) + C
—5 sin(lnz)
e) N 37. / — dz =
32. Differentiate: f(z)=tan ! <§> a) sin(lnz) + C b) cos(lnz) +C
¢) tan(lnz) + C d) —cos(lnz)+C
3 3 3 .
a) o b) o c) = e) —sin(lnz)+C
3 1
d) - —2 Z
) z2+9 2 3




38.

39.

40.

41.

42.

43.

/ (102 + 2)e5*+22-3 gy —

a) 65x2+2m +C
b) 65z2+2173 4 C
) w€5m2+2m73+c

d) 610m+2+c

o

e) (5:52 + 2z — 3)65z2+2I_3 +C

/ 6x+ 5 d
—_ dx =
3z2 452 —2

) 3In|32% + 52 —2|+C
b) In|32% 4+ 5z — 2|+ C

Q

c) arctan(3z? 4 5z —2) + C
d) arcsin(3z? 4 5z — 2) + C
e) 6zln(3z% + 5z —2)+C

/ln?xdm:
T

a) %ln7m—w—|—C b) %(ln?x)Q—l—C
¢) 2elnTz —z+C d) %ln%w—l-C
e) Tzln7z+ C

/10”dm:

a) 10"+ C b) In10+C

° 11110le ¢ 9 lneio

e) 10111]0:0+C’

Evaluate: / edr =

1 1
a) Te1™ + C b) ?e%z—}-C’ c) ?eh—l—C

d) 7™ +C

/ 19¢ /5 dt =

a) —95e'/° 4+ C

e) e+ C

b) —%e—t/uc

19 _»
¢) —e P40

d) —190e~t'/5 + C
10 ) e +

10 _t2/r
it 540
e) T9¢ +

44.

45.

46.

47.

48.

49.

Page 4

5 T
Evaluate: / ¢ dx
e +1

b) 5eln@) 4 ¢
d) 5In(e* +1)+C

a) %eln(x-l—l) +C
c) 5ln(e*+5)+C
e) In(e*+5)+C

2 €
[ 2 e
@+ 17
2 2
- C b) — C
R ) Tt
2 1
C d C
) e””—|—1+ )(e””—i—l)—’—
1
— 4 C
© Sern T
. o 1
Evaluate the indefinite integral: ———dz
r2e2/T
a) %we_Q/z +C b) %weQ/I +C
c) %eZ/Z—i—C d) %e’Q/Z—I—C
b
T 34303/
Integrate: / 3cscxcotxdr
a) —3cscz+C b) —3csc?x + C
¢) $esc?zeotz+C d) —2esc?zeot?z + C
e) 3sinztanz + C
Integrate: /3CSC2 xdx
a) 3esdz+C b) 6csc?zcotz + C
c) —3cotz+C d) —testz+C
e) cscdz+C
d
Evaluate / a
3+ a2
3 3
a) 5 arctan m\g/— +C b) 3arctanz + C
3
¢) arctan yc d) arcsin /3 +C
T

3
+C

x
e) arccos
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50.

51.

52.

5
Evaluate: / ——dx
x2 4+ 6x + 13

a) 5ln|z? 4+ 6z + 13|+ C

m3
b) 5 <?+3m2+13m> +C

5 3
c) —tan~! (x;_ )—l—C

2
5 5 5

) 242 24 C
) g tghlelt et

15 5 5

L2122 Le
°) 232 T T

12dz
V16 — 2
1
a) sinflz—l—c b) §sin*1§+0
c) 2sin~! 2 4+ ¢ d) 4sint 2 4 ¢
4 4
e) 12sin ' 2 + C
4

/ dz _

V9 — 422

2 1 2

a) arcsin?aC +C b) Earcsin?w—l—c

1 2 1
c) Earctan?m—l—C d) §arctan§+C

1 2
e) 1 arcsin ; +C




Answer List

4.
7.

10.
13.
16.
19.
22.
25.
28.
31.
34.
37.
40.
43.
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49.
52.
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10.
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APC FI 1
APC FT 22
APC DN 1
APC DN 7
APC DN 21
APC DN 29
APC DN 37
APC DN 46
APC DN 55
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APC FF 43
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APC DN 31
APC DN 39
APC DN 48
APC EB 43
APC EE 3

APC EE 25
APC FE 13
APC FE 29
APC FE 41
APC FE 53
APC FF 10
APC FF 29
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APC FI 19

APC FT 49

APC DN 5

APC DN 19
APC DN 27
APC DN 35
APC DN 43
APC DN 53
APC EB 47
APC EE 18
APC DB 31
APC FE 15
APC FE 31
APC FE 45
APC FE 55
APC FF 21
APC FF 37



